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THOUGHT OF THE DAY

| DOING POSITIVE ACTION

WITH POSITIVE THINKING
I LEADS TO SUCCESS.
|
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WORD OF THE DAY

Exacerbated

(Verb) : l%l'l'l'l"sr a4T: To make more
violent, bitter, or severe
Synonyms: Worsen , Aggravate

Antonyms: Alleviate , Delight



WORD OF THE DAY IMAGE

NO! THAT MADE T WOl SE




PHRASE REPLACEMENT



1. The plastic ban introduced by the municipality
has been a total failure as there has been no
reducing in the usage of polybags.

(a) is no reduce

(b) has been no reduction

(c) have been no reduced

(d) is not any reduced

(e) No correction required

Ans.(b) Sol. Replace “has been no
reducing” with “has been no

reduction”.



2. As per the directives, the retail prices of both
petrol and diesel is revising on a daily basis.

(a) have been revising

(b) are revising

(c) will be revised

(d) is revise

(e) No correction required

Ans.(c) Sol. The subject “Retail prices” is in plural
number therefore the usage of “is” is incorrect .
We will replace “is revising” with “will be

revised”.



3. We got everything ready for all of them long
before they arrived.

(a) We had got

(b) We have got

(c) We have been got

(d) We are getting
(e) No correction required

Ans.(a) Sol. Use “We had got” in place of “we got” because when
we talk about the two incidents of past for the first
incident use past perfect and for the later activity we
use past indefinite.



4. We still have some farm equipment that hasn't
been used since my grandfather died.

(a) Hasn’t been using

(b) was using

(c) are using

(d) should not have been use

(e) No correction required

Ans.(e)



S. Every officer and every resident of this
village is determined to do their best to get
better ranking in sanitation index.

(a) to do there best

(b) to do its best

(c) to do his best

(d) to do ones best

(e) No replacement required

Ans.(c)
Sol. Here, we will replace 'their' with 'his'.



FILLERS




6. Administration has taken positive steps to
the education system.

(a) Increase
(b) Devised
(c) renovated

(d) revamp
(e) dispel

Ans.(d) Sol. Option (d) is the correct choice for the
given question. Revamp means give new and
improved form, structure, or appearance to.
Dispel means make (a doubt, feeling, or belief)
disappear.



‘7. Health and education sectors are one of the
most sectors in the global

market.
(a) benefit
(b) necessity
(c) profit
(d) lucrative
(e) Importance

Ans.(d) Sol. Lucrative is correct.
Lucrative means producing a great deal of profit.
It also makes the sentence grammatically correct.



8. She is an aware citizen who has always

to contribute to the progress of the

country.
(a) wished
(b) admiring
(c) prepare
(d) motivating
(e) stimulate

Ans.(a) Sol. Option (a) is the correct choice for
the given question. Stimulate means
encourage or arouse interest or

enthusiasm in.



9. In the beginning I looked and could not

find quite the car I dreamed of.
(a) after
(b) around
(c) above
(d) out
(e) down

Ans.(b) Sol. Look around means [INTRANSITIVE]
to try to find something that you want or
need



10. The RBI

(a) introduce
(b) proposed
(c) improving
(d) decrease

(e) announcing

Ans.(e)

has played conservative in
a rate cut of just 25 basis points.




MATCH THE COLUMN



11. Column (1)

(A) The rumors of petrol shortage

(B) The body of camera makes it

(C) There were no surprises

Column (2)

(D) Highly resistant for outdoor use.

(E) Turned out to be false.

(F) The key stakeholders in the economy
(a) C-F and A-D (b) B-F

(c) A-F (d) C-E (e) B-D and A-E

Ans.(e) Sol. B-D :: The body of camera makes it highly resistant for
outdoor use. A-E::: The rumors of petrol shortage turned out
to be false.



12. Column (1)

(A) As the rain water began to collect in pools on the
highway

(B) For years, Argentina would dominate in World Cup
qualifying matches

(C) Many have accused him of being a quiet misogynist

Column (2)

(D) One of the European countries during the late stages of
the tournament

(E) Recently unearthed letters argue against this belief

(F) It began to hamper the flow of traffic

(a) C-F (b) B-F (c) A-F

(d) C-E (e) None of these

Ans.(c¢)



ERROR DETECTION




13. People have the freedom (a)/ of speech
but at the (b)/ same time each of them
(c)/ have to remember their

fundamental duties (d)/ No error (e)

Ans.(d) Sol. The error is in the part (d) of the
sentence. ‘have’ should be replaced by ‘has’
because ‘each of’, ‘either of’, always takes the

singular verb



14. The number of students (a)/ competing in
the event (b)/ has been fallen (c¢)/ because
of the prize money. (d)/ No error. (e)

Ans.(c) Sol. ‘Has fallen’ will be used in place of ‘has been
fallen’ as there is no passive form of intransitive
verb (fall).



15. While he used to walk (a)/ along the
road, (b)/ a wild and ferocious dog (c)/
knocked him down. (d)/ No error. (e)

Ans.(a) Sol. Replace ‘While he used to walk’ with ‘while he

was walking’.



16. Anaya is even willing (a)/ to make Mexico (b)/
one of the first countries to (c¢)/ introduces a

universal basic income. (d) / No error. (e)

Ans.(d) Sol. The sentence becomes grammatically incorrect in part
(d) of it. Instead of “introduces”, “introduce” is required
as after the phrase ‘one of the’ the noun or pronoun used

is plural, however, the verb should be in its singular form



9

I' HOME WORK “

There were no surprises (a)/ in the second

bimonthly monetary policy (b)/
announcement by the (c¢)/ Reserve Bank of
India. (d)/ No error. (e)



' Home Work Answer
e

High costs and a deficient

monsoon will the financial

condition of cotton farmers.
a) Output, Strengthen
b) Output, Worsen
¢) Input, Worsen
d) Input, Strengthen
e) None of the above






